MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona)PAIN

info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

Py

Racing Screers

CARENABRIS NAKED NEWGENERATCON SPORT PARA
VINDSHIELD NAKEDNEWGENERATONSPORTFCR
WINDSCHUTZSCHEIBE SPORT NAKED NEWGE, ATIONFUR

Ref.: 9999

. X
. Media-
11 %eerrs;)onna 20 min g
ID PIEZA/PART DESCRIPCIN DESCRIPTION QY| REF

/

1 / 7/7 Clpula Screen 1 9999F/H/W/NM3
2 % Soporte derecho (R) Right support (R) 1 SOP(R-2P-3-9999
3 M Soporte izquierdo (L) Left support (L) 1 SOP(R-2P-3-9999

AN

4 @EE@@ Tornillo M5x30 @11 I1SO 7380 M5x30 @11 screw ISO 7380 2 TORNI-17380-767
5 © Casquillo @8 x @14x10 @8 x @14x10 arrowhead 2 CASQUI------ 576
6 @ Silentblock @12x@6x9 D12x@6x9 silentblock 4 ARCPASACABLES-1
7 @b Casquillo con valona @12x@6,8x7,3 @12x@6,8x7,3 bush with flange 4 CASQUI-1A---750
8 @2@; Tornillo M5x16 @11 1SO 7380 M5x16 @11 screw ISO 7380 4 TORNI-17380-493
9 Q; Tapén M5 1SO7380 M5 1SO7380 screw cap 4 TAPON-------- 85

Pg. 1/3

Created by: www.ciandisseny.com



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

y 4
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racing Screerrs www.puig.tv www.puigusa.com

CARENABRIS NAKED NEW GENERATON SPORT PARA
WINDSHIELD NAKED NEW GENERATON SPORT FOR
WINDSCHUTZSCHEIBE TOURING NAKED NEV.V@EN ERATLO,.N__FUR

TRIUMPH STREET, TRIRIESSE"17-

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

IR Q
/ ! ’
]
l 1
-.

@ DESMONTAJE LADO DERECHO B

N

RIGHT SIDE DISASSEMBLY

-
i

/

Created by: www.ciandisseny.com

Pg. 2/3



) ot /- 4

Racing Screerrs

MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

CARENABRIS NAKED NEW GENERATON SPORT PARA
WINDSHIELD NAKED NEW GENERATON SPORT FOR
WINDSCHUTZSCHEIBE TOURING NAKED NEW@EN ERATION:FUR

TRIUMPH STREET.TRIBI E#'-Sﬂ"'?-

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

MONTAJE
ASSEMBLY @

MONTAJE
ASSEMBLY @

MONTAJE
ASSEMBLY @

Pg. 3/3

Created by: www.ciandisseny.com



